
Dolphin Wave 300XL (50m Cable)

POOLSPA CODES ITEM ITEM NO. DESCRIPTIONS RETAIL 2025 MODEL

22310401345 01 9995412-ASSY RCU Wave 200/300 14,000.00         Wave300XL

22310401360 02 9991039-ASSY MMI Display Cover - Assy 1,400.00           Wave300XL

22310401355 03 9995993-ASSY Tool: Wave Man Machine Interface 139,000.00       Wave300XL

22310401350 04 9980490 Tool: Wave - Mmi Omega 400.00              Wave300XL

22310401600 05 9996088-ASSY Caddy (Wave 200/300) 196,000.00       Wave300XL

22310404419 05.01 7100018 Caddy Sub (Wave) Handle 99,000.00         Wave300XL

22310401610 05.02 9991726 Caddy Sub (Wave) Cable Holder 1,500.00           Wave300XL

22310401615 05.03 9991721-ASSY Caddy Sub (Wave) Arm Reel 10,000.00         Wave300XL

22310401620 05.04 9980324 Caddy Sub (Wave) Bearing Holder 2,500.00           Wave300XL

22310401625 05.05 9991724 Caddy Sub (Wave) Reel Holder R 3,300.00           Wave300XL

22310401630 05.06 9980328 Caddy Sub (Wave) Reel Bearing 1,700.00           Wave300XL

22310401635 05.07 9991722-ASSY Caddy Sub (Wave) Cable Reel+Swivel 37,000.00         Wave300XL

22310401640 05.08 9991725 Caddy Sub (Wave) Reel Holder L 2,700.00           Wave300XL

22310401645 05.09 9980337 Caddy Sub (Wave) Cable Fixer 1,700.00           Wave300XL

22310401650 05.10 9991723-ASSY Caddy Sub (Wave) Swivel Assy 33,000.00         Wave300XL

22310401655 05.11 9991727 Caddy Sub (Wave) Cable Bend Assy 700.00              Wave300XL

22310401660 05.12 9980320 Caddy Sub (Wave) Wheel Cover 6,000.00           Wave300XL

22310401665 05.13 5000017 Amphenol Plug 1,900.00           Wave300XL

22310401670 05.14 4901641-ASSY Caddy Sub (Wave) Wheel+Bearings 6,500.00           Wave300XL

22310401675 05.15 7100019 Caddy Sub (Wave) Tray 82,000.00         Wave300XL

22310401130 05.16 9993072 Bearing + Holder Assy IGUS Wave 1,200.00           Wave300XL

22310401680 05.17 3390515 Caddy Sub (Wave) Caddy Legs Cork 100.00              Wave300XL

22310401685 05.18 3967020 Caddy Sub (Wave) Front Rubber Pad 300.00              Wave300XL

22310401690 05.A 3300560 SCREW M5X60 DIN7985A A2 FORM H 300.00              Wave300XL

22310400715 05.B 3379616-A Screw KA50X16 (Retail) 100.00              Wave300XL

22310401695 05.C 3300550 SCREW M5X50 DIN7985A A2 FORM H 100.00              Wave300XL

22310400835 05.D 3379450-A Screw KA40X12 100.00              Wave300XL

22310400835 05.D 3379450-A Screw KA40X12 100.00              Wave300XL

22310401700 05.E 3100540 SCREW M5X40 A2 DIN7985 100.00              Wave300XL

22310400835 05.F 3379450-A Screw KA40X12 100.00              Wave300XL

22310400835 05.F 3379450-A Screw KA40X12 100.00              Wave300XL



22310401440 05.G 3509350 Nut M5 A2 DIN 985 100.00              Wave300XL

22310401705 05.H 3516471 Wave - Circlip 10mm 400.00              Wave300XL

22310401460 05.I 3300516 Screw M5 x 16 DIN 7985A A2 Form H 100.00              Wave300XL

22310403870 06 99956026AU-ASSY Power Supply Wave 200/300 AU (2017) 148,000.00       Wave300XL

22310404418 06.02 5102002 Switch Cover Kit (For PSU) 1,500.00           Wave300XL

22310403875 06.03 9991189LF Cable Loom PSU AC Wave 200 2,000.00           Wave300XL

22310404420 06.04 9991200LF Cable - Power Supply Wave AU 2,000.00           Wave300XL

22310401500 06.05 5890034LF Nut for MMI Socket 200.00              Wave300XL

22310401490 06.06 9986009 Wave PS Casing 11,000.00         Wave300XL

22310401575 06.07 5020016 Wave PS Amphenol Socket 1,800.00           Wave300XL

22310401570 06.08 5020017 Wave PS Amphenol Socket Cover 900.00              Wave300XL

22310401515 06.09 3860221 Oring for PS Cable 22-1.5 100.00              Wave300XL

22310403880 06.10 9991185LF Cable - Power Supply MMI Connector 2,000.00           Wave300XL

22310400785 06.11 3390223 Cover plug for frame 100.00              Wave300XL

22310401510 06.12 9991729 Amphenol Kit for Wave PS 2,500.00           Wave300XL

22310403885 06.13 9991176LF Cable Loom PSU DC Wave 200 2,000.00           Wave300XL

22310403890 06.14 5645030-ASSY Power Pack for PSU (PSU Wave 200 & 300) 88,000.00         Wave300XL

22310403895 06.15 9991177LF Cable Loom PSU DC In Wave 200 2,000.00           Wave300XL

22310403900 06.16 9982472 PS Bottom Plate 8,000.00           Wave300XL

22310403905 06.17 99951089-ASSY Electronic Card PWS Wave 200 7,800.00           Wave300XL

22310403905 06.17 99951089-ASSY Electronic Card PWS Wave 200 7,800.00           Wave300XL

22310401380 06.A 3379410-A Screw WN1412 A2 KA40X10 70.00                Wave300XL

22310400495 06.B 3379212 Screw KA30X12 70.00                Wave300XL

22310400155 06.D 3379440-A Screw KA50X12 A2 WN1412 (Retail) 70.00                Wave300XL

07 WAVE 300 - CATALOG KIT Wave300XL

22310401045 07 9991005-ASSY Wave 300 Navigator Box Assy Wave300XL o

07.01 WAVE 300 TOP COVER - CATALOG KIT Wave300XL

22310401015 07.01.01 9980364 Wave - Main Locker 700.00              Wave300XL

22310401225 07.01.02 3862258 Top Cover O-ring 200.00              Wave300XL

22310401020 07.01.03 9980412 Outer Casing Wave - Top Cover 9,100.00           Wave300XL

22310401030 07.01.04 9980365 Wave - Locking Adaptor 1,200.00           Wave300XL

22310401035 07.01.05 9980400 Impeller Tube - Wave 800.00              Wave300XL

22310401240 07.01.07 9980370 Handle Wave Side 1,600.00           Wave300XL

22310401325 07.01.08 99952070-ASSY Wave - Top Cover Assy 6,600.00           Wave300XL

22310401040 07.01.09 9991037-ASSY Wave - Top Body + Bushung Assy 7,600.00           Wave300XL

07.02 WAVE 300 CABLE - CATALOG KIT Wave300XL

22310403595 07.02.01 9980403 Wave Grommet 600.00              Wave300XL



22310401235 07.02.02 99960087 Float Assy For Cable Wave 1,400.00           Wave300XL

22310404335 07.02.03 9995810-DIY Cable Dyn 43m Assy (WaveXL) 121,000.00       Wave300XL

22310404435 07.02.03A 9995809-DIY Cable Dyn 50m Assy (Wave) 135,000.00       Wave300XL

22310400995 07.02.04 9991274 Retrofit For Cable Con Wave 1,200.00           Wave300XL

22310400120 07.02.04.01 9985048 Cable Conn Three Pin 1,100.00           Wave300XL

22310401000 07.02.04.02 1811602LF Cable Crimp 10-12# 20A 3.18 600.00              Wave300XL

22310400125 07.02.04.02A 1811404 Cable Connector 200.00              Wave300XL

22310400220 07.02.04.04 3861002 RK RING FOR CABLE CONN. 300.00              Wave300XL

22310401320 07.02.05 9991042-ASSY NylonString + FastenRings Assy 200.00              Wave300XL

22310401270 07.02.06 9980394 Wave - Cable Handle 600.00              Wave300XL

22310401330 07.02.07 9991020-ASSY Wave - Pulling Handle Assy 2,900.00           Wave300XL

22310401265 07.02.09 3506799 Circlip Dia.8Mm A2 400.00              Wave300XL

22310401260 07.02.10 5581002 Shaft Wave Cable Handle 1,200.00           Wave300XL

22310401250 07.02.11 9980393 Wave - Cable Handle -Upper Part 600.00              Wave300XL

22310401255 07.02.12 9980392 Wave - Cable Handle -Lower Part 600.00              Wave300XL

22310401665 07.02.13 5000017 Amphenol Plug 1,900.00           Wave300XL

22310400840 07.02.A 3354020-A Screw KA40X20 (Retail) 100.00              Wave300XL

22310401055 07.03 9980395 Wave - Cable Omega 400.00              Wave300XL

22310401060 07.04 9985262 Impeller - Wave 300 800.00              Wave300XL

07.05 MOTOR UNIT WAVE - CATALOG KIT Wave300XL

22310404434 07.05.02 99953056-EX Motor Unit Wave 300 Ex 240,000.00       Wave300XL

22310401300 07.06 6250937 Wave - Side Float Small 700.00              Wave300XL

22310401305 07.06A 9980402 Wave - Side Float 800.00              Wave300XL

22310401025 07.07 9991012 Wave - Suction Tube 1,900.00           Wave300XL

22310401230 07.08 9980363 Non return flap for Wave XL tu 400.00              Wave300XL

07.09 FILTER BAGS WAVE - CATALOG KIT Wave300XL

22310401280 07.09.01 9991402 Filter Bag Wave 70m + Slide 6,800.00           Wave300XL

22310401285 07.09.02 9991403 Filter Bag Wave Coarse + Slide 4,800.00           Wave300XL

22310401290 07.09.03 9991401 Filter Bag Wave + Slide 8,000.00           Wave300XL

22310401295 07.09.04 9991443-ASSY Filter Bag Disposable Wave 10 Pack 11,000.00         Wave300XL

22310403930 07.10 9991720-ASSY Wave Navigation Box Assy 128,000.00       Wave300XL

22310401215 07.11 9991041-ASSY Wave - Track Tension Base Assy 1,900.00           Wave300XL

07.12 WAVE 300 ARM BRUSH - CATALOG KIT Wave300XL

22310404430 07.12.01 9991014-ASSY Wave - Brush Arm Assy 5,700.00           Wave300XL

22310404423 07.12.02 9980312 Wave - Acetal Washer 29-11 12mm (2017) 200.00              Wave300XL

22310404425 07.12.03 9991314 Wheel Assy Wave Short Shaft 12mm (2017) 18,000.00         Wave300XL

22310404422 07.12.04 9980311 Bearing Cover Wave (2017) 200.00              Wave300XL



22310404427 07.12.05 9991316 Bearing + Holder Assy IGUS Wave (2017) 1,800.00           Wave300XL

22310404424 07.12.07 9980313 Wave - Coupling Adaptor (2017) 3,100.00           Wave300XL

22310401195 07.12.08 9980390 Wave - Outer Ring With Pins 200.00              Wave300XL

22310401200 07.12.09 9980391 Wave - Pu Adaptor 200.00              Wave300XL

22310401205 07.12.10 9980389 Wave - Coupling Adaptor 8 mm 3,100.00           Wave300XL

22310404431 07.12.11 9991015-ASSY Wave - Brush Arm Base Assy 9,100.00           Wave300XL

22310401145 07.12.12 5580372 Bushing - Wheel Wave 36 800.00              Wave300XL

22310401150 07.12.13 9980382 Wave - Spurwheel - 26 400.00              Wave300XL

22310401155 07.12.14 9980383 Wave - Spurwheel - 36 400.00              Wave300XL

22310401160 07.12.15 9980384 Wave - Spurwheel - 56 400.00              Wave300XL

22310404426 07.12.16 9991315 Wheel Assy Wave Long Shaft 12mm (2017) 18,000.00         Wave300XL

22310404421 07.12.18 5580634 WaveRing Stopp. for WheelShaft 12mm (2017) 1,000.00           Wave300XL

22310401210 07.13 9991312 Wave XL Track Tension Wheel 14,000.00         Wave300XL

22310401050 07.14 9980396 Wave - Vertical Pariting Net 800.00              Wave300XL

22310401080 07.15 9980397 Wave - Bottom Net 800.00              Wave300XL

22310404355 07.16 3889201 Wave XL Belt (2020) 12,000.00         Wave300XL

22310403825 07.16od 3889200 Wave XL Belt (2017) 13,500.00         Wave300XL

22310401220 07.17 9980342 Track Side Vacuum Closing 900.00              Wave300XL

22310404433 07.18 9993301-ASSY Wave-Main Body-Bottom+Bushings 11,000.00         Wave300XL

22310401090 07.19 9980343 Wave 300 Stainless Arc Stopper 400.00              Wave300XL

22310401075 07.20 9991013 Wave - Bumper Assy 7,600.00           Wave300XL

22310401115 07.21 9980378 Wave - Non Return Diaphragm 200.00              Wave300XL

22310401095 07.22 5580021 Wave 300 Stainless Arc For Brush* 13,000.00         Wave300XL

22310401105 07.23 6100917 Wave - PVC Tube For Brush 1,200.00           Wave300XL

22310401100 07.24 9980385 Wave-Adaptor For Brush Spindle 2,700.00           Wave300XL

22310401165 07.25 5590054-ASSY Brush For Side - Wave 1,400.00           Wave300XL

22310401110 07.26 9982410 Brush Wave - PE Brush 1,000.00           Wave300XL

22310401315 07.28 9980341 LongWasherSpacer For Tensioner 400.00              Wave300XL

22310401370 07.A 9992301 Screw - Wave Screws Kit 4,600.00           Wave300XL

22310401380 07.A.B 3379410-A Screw WN1412 A2 KA40X10 70.00                Wave300XL

22310400830 07.A.C 3305030-A Screw KA50X30 (Retail) 90.00                Wave300XL

22310401385 07.A.D 3154414-A Screw M4X14 - 7985 Retail 100.00              Wave300XL

22310401390 07.A.E 3374111 Screw Tuf A2 Form - H M4 x 10 600.00              Wave300XL

22310401400 07.A.G 3105580 Screw M5x80 A2 300.00              Wave300XL

22310401405 07.A.H 3105550 Screw M5x50 A2 Din912a 300.00              Wave300XL

22310401410 07.A.I 3500005 Nut M5 A2 100.00              Wave300XL

22310401425 07.A.L 3101408 SCREW M4X8 DIN 965 A2 100.00              Wave300XL



22310400840 07.A.M 3354020-A Screw KA40X20 (Retail) 100.00              Wave300XL

22310401440 07.A.Q 3509350 Nut M5 A2 DIN 985 100.00              Wave300XL

22310400835 07.A.R 3379450-A Screw KA40X12 100.00              Wave300XL

22310401460 07.A.V 3300516 Screw M5 x 16 DIN 7985A A2 Form H 100.00              Wave300XL

22310400155 07.A.X 3379440-A Screw KA50X12 A2 WN1412 (Retail) 70.00                Wave300XL

22310401265 07.A.Y 3506799 Circlip Dia.8Mm A2 300.00              Wave300XL

22310404428 07.B 9992303 Screw - Wave Screws Kit Top Body 1,100.00           Wave300XL

22310400720 07.B.H 3305050-A SCREW A2 WN1412 KA50X50 (Retail) 160.00              Wave300XL

22310404330 11 8882040 MOTOR UNIT WAVE - CATALOG KIT Wave300XL o

22310401070 11.02 99953036-EX Motor Unit Wave 300 Ex 240,000.00       Wave300XL o

22310401085 14 9993301 Wave-Main Body-Bottom+Bushings 8,000.00           Wave300XL o

22310401120 21 3889301-ASSY Wave XL Belt 16,000.00         Wave300XL o

22310401125 22 9981244 Wave - Acetal Washer 29-11 300.00              Wave300XL o

22310401135 23 5580633 WaveRing Stopp. for WheelShaft 600.00              Wave300XL o

22310401140 24 9980374 Bearing Cover Wave 300.00              Wave300XL o

22310401170 30 9980430-ASSY Wave - Brush Arm Cover 2,000.00           Wave300XL o

22310401175 31 9980440-ASSY Wave - Brush Arm Base 2,000.00           Wave300XL o

22310401180 32 9995558 Wheel Assy Wave Long Shaft 9,000.00           Wave300XL o

22310401185 32A 9995557 Wheel Assy Wave Short Shaft 13,000.00         Wave300XL o

22310401190 33 9980388 Wave - Coupling Adaptor 10 mm' 2,000.00           Wave300XL o

22310401275 49 5000033LF Wave - Bulgin Plug - Buccaneer 6,500.00           Wave300XL o

22310404340 50 8883995 FILTER BAGS WAVE - CATALOG KIT Wave300XL o

22310401335 58 9980344 Filter Bag Slide Wave 300.00              Wave300XL o

22310401340 59 9980345 Wave - female clip 300.00              Wave300XL o

22310401480 64.01 5102010 Switch Cover Flange for Wave PS 1,500.00           Wave300XL o

22310401520 64.04 9991138LF Wave PS Cable 2,000.00           Wave300XL o

22310404345 OTW 9991311 Wave - Track Tension Wheel Wave300XL o

22310401470 UPG 9993184 Upgrade Kit to Wave 300 -                    Wave300XL o

22310404429 UPG2 9993191 Upgrade Kit - Wave XL Drive System 130,000.00       Wave300XL

22310404432 UPG3 9993192-ASSY Wave Preventative Maintenance Kit (2019) 49,000.00         Wave300XL

Dolphin Wave 300XL





05  Caddy (Wave 200/300)



06  Power Supply Wave 200/300 AU (2017)



07  WAVE 300 - CATALOG KIT

07.01  WAVE 300 TOP COVER - CATALOG KIT



07.02  WAVE 300 CABLE - CATALOG KIT

07.02.04  Retrofit For Cable Con Wave



07.05  MOTOR UNIT WAVE - CATALOG KIT

07.09  FILTER BAGS WAVE - CATALOG KIT

07.12  WAVE 300 ARM BRUSH - CATALOG KIT

07.A  Screw - Wave Screws Kit

07.B  Screw - Wave Screws Kit Top Body


